

$$P(x) = x^4 + 3x^3 - 4x$$

$$x_1 = 0 \quad \checkmark$$

$$P(x) = (x - 0) \cdot \underline{\underline{(1x^3 + 3x^2 - 4)}}$$

$$\pm 1$$

$j \in \mathbb{N}$.

$$1, 2, 4$$

$\bar{c} \in \mathbb{N}$.

PODE ZRĚLE: $\pm 1, \pm 2, \pm 4$

	1	3	0	-4	
2	1	5	10	16	$\neq 0$ ✗
-2	1	1	-2	0	✓

$2 \cdot 1 + 3 = 2 \cdot 5 + 0 =$

$$\rightarrow P(x) = (x + 2) \cdot (x^2 + x - 2) \cdot x$$

abd

$$P(x) = (x + 2)^2 \cdot (x - 1) \cdot x$$

Př. 1

$$l_0 = \frac{(x - x_1) \cdot (x - x_2) \cdot (x - x_3)}{(x_0 - x_1) \cdot (x_0 - x_2) \cdot (x_0 - x_3)} =$$

$$= \frac{(x - 1) \cdot (x - 2) \cdot (x - 5)}{(0 - 1) \cdot (0 - 2) \cdot (0 - 5)} = \frac{x^3 - 8x^2 + 17x - 10}{-10}$$

$$l_1 = \frac{(x - 0) \cdot (x - 2) \cdot (x - 5)}{(1 - 0) \cdot (1 - 2) \cdot (1 - 5)} = \frac{x^3 - 7x^2 + 10x}{4}$$

$$l_2 = \frac{x^3 - 6x^2 + 5x}{-6}, \quad l_3 = \frac{x^3 - 3x^2 + 2x}{60}$$

$$\begin{aligned}
P(x) &= f(x_0) \cdot l_0 + f(x_1) \cdot l_1 + \\
&\quad + f(x_2) \cdot l_2 + f(x_3) \cdot l_3 = \\
&= \overset{1}{\cancel{2}} \cdot \frac{x^3 - 8x^2 + 17x - 10}{\cancel{-10} - 5} + 3 \cdot l_1 + \\
&\quad + 12 \cdot l_2 + 147 \cdot l_3 = \\
&= \underline{\underline{x^3 + x^2 - x + 2}}
\end{aligned}$$

Pr. 3/

$$P(x) = a_5 x^5 + a_4 x^4 + a_3 x^3 + a_2 x^2 + a_1 x + a_0$$

$$P'(x) = 5 \cdot a_5 \cdot x^4 + 4 \cdot a_4 \cdot x^3 + 3 \cdot a_3 x^2 + \\ + 2 a_2 x + a_1$$

$P(x)$

$$P(0) = 2 = a_0$$

$$P(1) = 5 = a_5 + a_4 + a_3 + a_2 + a_1 + a_0$$

$$P(4) = 1 = 1024 a_5 + 256 a_4 + 64 a_3 + \\ + 16 a_2 + 4 a_1 + a_0$$

$$P'(0) = 1 = a_1$$

$$P'(1) = -1 = 5 \cdot a_5 + 4a_1 + 3a_2 + 2a_2 + a_1$$

$$P'(4) = 2 = 1280a_5 + 256a_1 + 48a_2 + 8a_2 + a_1$$

$$\begin{array}{cccc}
 a_5 & a_4 & a_3 & a_2 \\
 \left(\begin{array}{cccc}
 1 & 1 & 1 & 1 \\
 1024 & 256 & 64 & 16 \\
 5 & 4 & 3 & 2 \\
 1280 & 256 & 64 & 8
 \end{array} \right) \cdot \begin{pmatrix} a_5 \\ a_4 \\ a_3 \\ a_2 \end{pmatrix} = \begin{pmatrix} 2 \\ -5 \\ -2 \\ 1 \end{pmatrix}
 \end{array}$$

$$A \cdot x = b$$

$$A^{-1} \cdot A \cdot x = A^{-1} \cdot b$$

$$x = A^{-1} \cdot b$$

$$\Rightarrow P(x) = -\frac{407}{864}x^5 + \frac{329}{72}x^4 -$$

$$-\frac{3953}{288}x^3 + \frac{5023}{512}x^2 + x + 2$$

Pr. 4 / $f(x) = \frac{1}{1+x^2}$; $I = [0, 3]$

$$x_0 = 0, x_1 = 1, x_2 = 3$$

Pr. 12. : $S''(x_0) = 0 = S''(x_2)$

KUB. : POLY 3. st.

x	0	1	3
f(x)	1	$\frac{1}{2}$	$\frac{1}{10}$

$$S_0(x) = a_3 x^3 + a_2 x^2 + a_1 x + a_0 \quad [0,1]$$

$$S_1(x) = b_3 x^3 + b_2 x^2 + b_1 x + b_0 \quad [1,3]$$

① $S(x_j) = f(x_j) :$

$$S_0(0) = 1, \quad S_0(1) = \frac{1}{2}, \quad S_1(1) = \frac{1}{2}, \quad S_1(3) = \frac{1}{10}$$

② $S_j(x_{j+1}) = S_{j+1}(x_{j+1}) :$

~~$S_0(1) = S_1(1)$~~

$$\textcircled{3} \quad S_j^1(x_{j+n}) = S_{j+n}^1(x_{j+n})$$

$$S_0^1(1) = S_1^1(1)$$

$$S_j''(x_{j+n}) = S_{j+n}''(x_{j+n})$$

$$S_0''(1) = S_1''(1)$$

$$\textcircled{4} \quad S_0''(0) = 0, \quad S_1''(3) = 0$$

$$\begin{cases}
 S_0(0) = \underline{a_0 = 1} \\
 S_0(1) = a_3 + a_2 + a_1 + a_0 = \frac{1}{2} \\
 S_1(1) = b_3 + b_2 + b_1 + b_0 = \frac{1}{2} \\
 S_1(3) = 27b_3 + 9b_2 + 3b_1 + b_0 = \frac{1}{10}
 \end{cases}$$

$$\underline{S_0'(1) = S_1'(1)} \Rightarrow 3a_3 + 2a_2 + a_1 = 3b_3 + 2b_2 + b_1$$

$$\underline{S_0''(1) = S_1''(1)} \Rightarrow 6a_3 + 2a_2 = 6b_3 + 2b_2$$

$$\underline{S_0''(0) = 0} \Rightarrow \underline{2a_2 = 0} \quad \parallel \quad \underline{S_1''(3) = 0} \Rightarrow 18b_3 + 2b_2 = 0$$

6 RC o 6 MEZU.

Řeš. :

$$S_0(x) = 1 - \frac{11}{20}x + \frac{1}{20}x^3$$

$$S_1(x) = \frac{43}{40} - \frac{31}{40}x + \frac{9}{40}x^2 - \frac{1}{40}x^3$$

$$\underline{\text{Pr. 5 (i)}} \quad \frac{2x^5 + 5x^3 - x^2 + 2x - 1}{x^6 + 2x^4 + x^2} = R(x)$$

$$x^6 + 2x^4 + x^2 = x^2 \cdot (x^4 + 2x^2 + 1) =$$

$$= x^2 \cdot \underbrace{(x^2 + 1)^2}$$

$$D = 1 - 4 = -3 < 0$$

$$R(x) = \frac{A}{x^2} + \frac{B}{x} + \frac{Cx + D}{(x^2 + 1)^2} + \frac{Ex + F}{(x^2 + 1)}$$

$$\cdot \begin{pmatrix} x^6 + 2x^4 + \\ + x^2 \end{pmatrix}$$

$$2x^5 + 5x^3 - x^2 + 2x - 1 =$$

$$= A \cdot (x^2 + 1)^2 + B \cdot x \cdot (x^2 + 1)^2 + (Cx + D) \cdot x^2 + \\ + (Ex + F) \cdot x^2 \cdot (x^2 + 1)$$

$$x^0: -1 = A$$

$$x^1: 2 = B$$

$$x^2: -1 = 2A + D + F$$

$$x^3: 5 = 2B + C + E$$

$$x^4: 0 = A + F$$

$$x^5: 2 = B + E$$

$$LRCLE \quad 0 \quad 4 \quad LRE \quad 2L.$$

$$\Rightarrow \frac{-1}{x^2} + \frac{2}{x} + \frac{x}{(x^2+1)^2} + \frac{1}{x^2+1}$$

VOĽBA x

$$\textcircled{x=0} \Rightarrow -1 = A \cdot 1 \Rightarrow A = -1$$

$$\textcircled{x=i} \Rightarrow \text{LS} = 2i^5 + 5i^3 - i^2 + 2i - 1 =$$

$$= \underbrace{2i - 5i + 1 + 2i - 1}_{\text{red underline}} = -i$$

$$i^5 = i^2 \cdot i^2 \cdot i = (-1) \cdot (-1) \cdot i = i$$

$$0 - i = (Ci + D) \cdot (-1)$$

$$0 - i = -D - Ci$$

$$\text{Re: } 0 = -D \Rightarrow D = 0$$

$$\text{Im: } -1 = -C \Rightarrow C = 1$$

A, C, D doadine A RESTINE
3 RCE 0 3 LEZK...

$$(ii) \quad (2x^5 - 5x^4 + 5x^3 - 3x^2 + 10x - 3) : (x^4 - x^3 - x + 1) = 2x - 3$$

$$-(2x^5 - 2x^4 - 2x^3 + 2x)$$

$$0 \quad -3x^4 + 5x^3 - x^2 + 8x - 3$$

$$-(-3x^4 + 3x^3 + 3x - 3)$$

$$0 \quad +2x^3 - x^2 + 5x$$

ZB.

$$\frac{2x^5 - 5x^4 + \dots}{x^4 - x^3 - x + 1} = 2x - 3 + \frac{2x^3 - x^2 + 5}{x^4 - x^3 - x + 1}$$

⏟